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Homework on Vector Operations 04:

If D(3, 4, 5) and E(-2, 1, 5) are points in spar@culate:

OD| {5v2} b) ‘E‘ ~/30} c) DE (-5, -3, 0)}
DE| {+/34} e) ED (6.3,00 0[ED (<34}

Find the magnitude and direction of the resultdrmivo forces of 15 N and 8 N acting at an angle of
130 degrees to each other. (geometrically and edgeily)
{11.6 N, 32 degrees to 15 N}

If G=(5-7) andv =(-2,3), find W= 60 -4V {(38, -54)}
Giveny=2 +2j -k, x=(-14-3), z=(3-21), A(-1-35), B(-3-21)
Find: Q) AB b) ‘E‘ 0y d)-5%  e)x+y ) 2x—3y+2
{(-2,1,-4),v21, (2,2,2), (5, -20, 15), (1, 6, -4), (-5, 0, -2)}

3’

simplify: a) 3 - 2] +3k)-3l-1 +4] -3k b) 597 - 7])-5(- o + 7k) {(6, -18, 18), (90, -35, -35)}

If a& OB andOC are three edges of a parallelepiped where O 8, @), A is (2, 4, -2), Bis (3, 6,
1), and Cis (4, 0, -1), find the coordinates @& tither vertices of the parallelepiped.

{(7, 6, 0), (6, 4, -3), (5, 10, -1), (9, 10, -2)}
Demonstrate using vectors that the points A(3326%, B(6, 4, -16) and C(9, 3, -12) are collinear.
Findx, y andzif 2(x,—14)-3(-4,y,6)-1(4,-2 2) = (000) {-5, -1/3, -20}

Are the points A(-3, 5,-2) , B(2, -1,8) and C(7,18) collinear?



